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The main aim of this booklet is to exemplify standards for those teaching Cambridge International AS & A Level 
Law, and to show how different levels of candidates’ performance (high, middle and low) relate to the syllabus 
requirements. This document helps teachers to assess the standards required to achieve marks beyond the guidance 
of the mark scheme.

In this booklet candidate responses have been chosen from the June 2023 exam series to exemplify a range of 
answers.

For each question, the response is annotated with examiner comments about where and why marks were awarded or 
omitted. This is followed by comments on how the answer could be improved. There is also a list of common mistakes 
and guidance for candidates.

Please refer to the June 2023 Examiner Report for further details and guidance.

The mark scheme is available on the School Support Hub

Introduction

Past exam resources and other teaching and learning resources are available on the School Support Hub

9084 June 2023 Question Paper 42

9084 June 2023 Mark Scheme 42

http://www.cambridgeinternational.org/support
http://www.cambridgeinternational.org/support
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How the candidate could improve their answer
•	 In relation to negligent misstatement, the issue of breach of duty and damages should be analysed. The focus here 

is on the duty of care only. Whilst this is the main issue, any conclusion as to liability should include some analysis 
of breach of duty and resulting damage.

•	 The explanation of assault and battery should be developed, and relevant case law should be utilised to 
support and develop the explanation. The analysis here is brief and superficial and is not based on a developed 
explanation of the relevant legal rules.

       The candidate identifies the 
issue of pure economic loss.

       The candidate gives an 
explanation of some elements 
of Hedley Byrne, reference to 
some relevant case law and 
application to the facts. 

How to use this booklet
This booklet goes through the paper one question at a time, showing you the high-, middle- and low level response for 
each question. In the left-hand column are the candidate responses, and in the right-hand column are the examiner 
comments.

Example Candidate Response – middle Examiner comments

1 1

Common mistakes and guidance
•	 Repetition of the facts of the scenario without analysis or evaluation in relation to the relevant legal rules is not 

creditworthy. 
•	 Analysis of the facts of the scenario without an explanation of the relevant legal rules will not achieve the higher 

marks.
•	 Explanation of the relevant legal rules should be supported by reference to appropriate authority.

Answers are by real candidates in exam conditions. 
These show you the types of answers for each level. 
Discuss and analyse the answers with learners in the 
classroom to improve their skills.

Examiner comments are 
alongside the answers. These 
explain where and why marks 
were awarded. This helps you 
to interpret the standard of 
Cambridge exams so you can 
help your learners to refine their 
exam technique.

This section explains how the candidate could have 
improved each answer. This helps you to interpret 
the standards of Cambridge exams and helps your 
learners to refine their exam technique.

This section lists common mistakes as well as 
helpful guidance from the examiner. This will help 
your learners to avoid these mistakes. You can 
use this alongside the relevant Examiner Report to 
guide your learners.

22
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Question 1

Example Candidate Response – high Examiner comments

       The candidate identifies the 
relevant issues.

       The candidate outlines the 
elements of negligence. A detailed 
account of the general elements 
of negligence is not required here 
as the issues relate to a novel duty 
situation.

       The candidate identifies 
the issue of pure economic 
loss resulting from negligent 
misstatement. There is some 
analysis of the different types of 
loss. 

1

2

3

1

2

3
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Example Candidate Response – high, continued Examiner comments

       The candidate explains the 
elements of the rule in Hedley 
Byrne v Heller and applies the rule 
to the facts of the scenario.

       The candidate supports 
the explanation of the law with 
reference to relevant case law in 
relation to each of the elements of 
the Hedley Byrne Rule.

4

5

4

5
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Example Candidate Response – high, continued Examiner comments

       The candidate identifies 
elements of Trespass to the Person.

6 6
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Example Candidate Response – high, continued Examiner comments

       The candidate identifies 
potential assault with a clear 
explanation of the elements and 
application to facts. Relevant 
case law is used to support the 
explanation.

       The candidate identifies 
potential battery with a clear 
explanation of the elements and 
application to the facts. Relevant 
case law is used to support the 
explanation.

       The candidate identifies 
potential false imprisonment with a 
clear explanation of the elements 
and application to the facts.

       The candidate makes effective 
use of relevant case law throughout 
the response.

Mark for AO1 = 11 out of 12
Mark for AO2 = 5 out of 5
Mark for AO3 = 7 out of 8

Total mark awarded =
23 out of 25

1010

7

8

9

7

8

9
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How the candidate could improve their answer
•	 In relation to negligent misstatement, once the duty has been established there should be some discussion of 

breach of duty and resulting damage in order to reach a clear conclusion in relation to liability.
•	 In relation to trespass to the person, the concept of ‘actionable per se’ could be explained. It is mentioned in the 

conclusion, but without any explanation or justification for the statement.
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Example Candidate Response – middle Examiner comments

       The candidate identifies the 
issue of pure economic loss.

       The candidate gives an 
explanation of some elements of 
Hedley Byrne, reference to some 
relevant case law and application to 
the facts. 

1

2

1

2
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Example Candidate Response – middle, continued Examiner comments

       The candidate reaches a clear 
conclusion as to liability.

       The candidate identifies 
potential claims in trespass to 
person for assault.

       The candidate provides a very 
brief explanation of assault.

       There is a very brief application 
of battery.

       The candidate reaches a 
conclusion in relation to liability for 
trespass to the person.

Mark for AO1 = 7 out of 12
Mark for AO2 = 3 out of 5
Mark for AO3 = 3 out of 8

Total mark awarded =
13 out of 25

3

4

3

4

5

6

7

5

6

7
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How the candidate could improve their answer
•	 In relation to negligent misstatement, the issue of breach of duty and damages should be analysed. The focus here 

is on the duty of care only. Whilst this is the main issue, any conclusion as to liability should include some analysis 
of breach of duty and resulting damage.

•	 The explanation of assault and battery should be developed, and relevant case law should be utilised to 
support and develop the explanation. The analysis here is brief and superficial and is not based on a developed 
explanation of the relevant legal rules.

•	 The conclusion reached in relation to liability for trespass to the person is not fully justified as the explanation of the 
law and the application to the facts is brief and superficial.
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Example Candidate Response – low Examiner comments

       The candidate identifies 
relevant issues.

       The candidate gives reference 
to some relevant authority.

       The candidate identifies 
some of the elements required to 
establish liability for a negligent 
misstatement.

       The candidate gives a brief 
explanation of the legal rules.

1

2

3

4

1

2

3

4
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Example Candidate Response – low, continued Examiner comments

       The candidate analyses the 
facts of the scenario and reaches a 
conclusion as to potential liability.

       The candidate identifies issues 
of assault and battery and provides 
some explanation of the legal rules.

       The candidate develops their 
explanation of assault and refers to 
some relevant authority.

       There is an outline explanation 
of some elements of battery and a 
brief application to the facts.

Mark for AO1 = 5 out of 12
Mark for AO2 = 2 out of 5
Mark for AO3 = 1 out of 8

Total mark awarded =
8 out of 25

8

8

5 5

6

7

6

7
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Common mistakes and guidance
•	 Repetition of the facts of the scenario without analysis or evaluation in relation to the relevant legal rules is not 

creditworthy. 
•	 Analysis of the facts of the scenario without an explanation of the relevant legal rules will not achieve the higher 

marks.
•	 Explanation of the relevant legal rules should be supported by reference to appropriate authority.

How the candidate could improve their answer
•	 As part of the explanation of elements of negligent misstatement; the candidate should explain the elements of 

the special relationship, explain the rules applicable to a social relationship, explain the elements of reasonable 
reliance, the standard of care required and how breach is shown, and the elements of causation and remoteness. 
Whilst some elements are identified there is little developed explanation.

•	 In relation to trespass to the person, the candidate needed to identify the different forms of trespass; explain the 
elements of each and identify any relevant defences or remedies. In this response the candidate has identified 
potential issues in relation to assault and battery, however the explanations are brief and the application is 
superficial.



Example Candidate Responses – Paper 4

17

Question 2

Example Candidate Response – high Examiner comments

       The candidate identifies that 
the claimant may be categorised as 
a trespasser.

       The candidate explains the 
concept of trespass, provides 
relevant authority and applies the 
law to the scenario.

1

2

1

2



Example Candidate Responses – Paper 4

18

Example Candidate Response – high, continued Examiner comments

       The candidate identifies the 
possible claim under the Occupiers’ 
Liability Act 1984 in relation to the 
losses sustained by Clive.

       The candidate identifies the 
relevance of the warning sign 
and the defence of contributory 
negligence.

33

4 4
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Example Candidate Response – high, continued Examiner comments

       The candidate Identifies the tort 
of trespass to land.

       The candidate explains that 
intention is required and applies the 
law to the facts of the scenario.

       The candidate gives an 
Explanation of Trespass ab initio 
supported with relevant authority.

       A clear and reasoned 
conclusion is reached in relation to 
both occupiers’ liability and trespass 
to land. 

Mark for AO1 = 9 out of 12
Mark for AO2 = 4 out of 5
Mark for AO3 = 6 out of 8

Total mark awarded =
19 out of 25

7

8

6

7

8

6

5 5



Example Candidate Responses – Paper 4

20

How the candidate could improve their answer
•	 The candidate should have provided a more detailed explanation of the duty owed to an occupier under the 

Occupiers Liability Act 1984.
•	 The candidate should have distinguished between liability for personal injuries and liability for damage to property 

under the 1984 Act.
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Example Candidate Response – middle Examiner comments

       The candidate identifies the 
relevant issues as occupiers’ liability 
and trespass to land.

       The candidate outlines some 
elements of the duty owed under 
the Occupiers’ Liability Act 1957.

22

11
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Example Candidate Response – middle, continued Examiner comments

       The candidate identifies the 
relevance of the warning sign.

       The candidate identifies 
that any subsequent entrants to 
the pathway will be classified as 
trespassers.

       The candidate identifies a 
possible battery arising from Jim 
pushing Eoin on to the path.

       Here, the candidate points out 
a possible trespass to land arising 
from Eoin’s continued presence on 
the land.

Mark for AO1 = 7 out of 12
Mark for AO2 = 2 out of 5
Mark for AO3 = 3 out of 8

Total mark awarded = 
12 out of 25

4

3

5

6

4

3

6

5
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How the candidate could improve their answer
•	 A more detailed explanation of the duties owed by the occupier under the relevant Occupiers’ Liability Act is 

needed. Occupiers have a duty of care towards others who come onto the land and that this duty relates to the 
dangerous condition of the land rather than its use. Additional case examples should be given.

•	 A more detailed explanation and application of the elements of trespass to land is needed. The candidate should 
have explained the elements of direct interference, intention, and unlawful entry. The candidate should have 
explained the defences available and identify any possible remedies. More detailed analysis of Barchester 
University’s liability and the status of Clive as a visitor and trespasser as well as the liability of Jim and Eoin. A more 
thorough analysis of whether any defences are available and if there are any appropriate remedies available would 
have improved this answer. 
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Example Candidate Response – low Examiner comments

       The candidate identifies that 
the warning sign may impact on the 
liability of the occupier.

       A possible defence of 
contributory negligence is noted.

       The candidate recognises 
a possible breach of duty by the 
occupier in relation to a failure to 
act in response to the presence of 
trespassers.

2

3

1

2

3

1
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Example Candidate Response – low, continued Examiner comments

       The candidate states that Jim 
and Eoin may be liable for trespass 
to land.

Mark for AO1 = 4 out of 12
Mark for AO2 = 2 out of 5
Mark for AO3 = 1 out of 8

Total mark awarded =
7 out of 25

44

How the candidate could improve their answer
•	 A more detailed explanation of the key elements of the relevant Occupiers’ Liability Act is needed.
•	 The candidate could have provided a more detailed explanation of the elements of trespass to land.
•	 A more thorough application of the legal rules to the facts of the scenario would have improved the marks awarded 

for this response.

Common mistakes and guidance
•	 In relation to occupiers’ liability, candidates should justify the selection of either the Occupiers’ Liability Act 1957 or 

the Occupiers’ Liability Act 1984. Candidates should then ensure that they provide an accurate explanation of the 
elements of the duty owed by the occupier and any relevant defences. The law should then be applied in a logical 
way to the facts presented in the scenario.

•	 In relation to trespass to land, candidates should ensure that they provide an explanation of each element of the 
tort and them apply the legal rules to the facts of the scenario. A discussion of the Occupiers’ Liability Act 1984 was 
not relevant here as the entrants to the property did not sustain any injury or damage.
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Question 3

Example Candidate Response – high Examiner comments

       The candidate presents a clear 
and accurate explanation of the 
defence of contributory negligence.

       The candidate gives an 
accurate explanation of how the 
defence operates as a partial 
defence, supported with reference 
to case law.

       The candidate analyses the 
operation of the defence in relation 
to a child. Analysis is supported by 
reference to relevant case law.

11

2

3

2

3
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Example Candidate Response – high, continued Examiner comments

       The candidate uses comparison 
with treatment of breach of duty by 
a child to develop the analysis of 
contributory negligence.

       The candidate provides some 
evaluation of policy issues and 
balancing of interests of claimant 
and defendant.

       The candidate reaches a clear 
conclusion here in relation to the 
issue raised in the question.

Mark for AO1 = 8 out of 12
Mark for AO2 = 4 out of 5
Mark for AO3 = 7 out of 8

Total mark awarded =
19 out of 25

4

5

4

5

6

6

How the candidate could improve their answer
•	 To improve their response, the candidate could have developed the explanation of the elements of the defence and 

used more examples and/or case law to illustrate the different elements of the defence.
•	 It would have been beneficial to provide a more detailed analysis of the competing arguments in relation to how the 

defence should operate where the claimant is a child.
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Example Candidate Response – middle Examiner comments

       The candidate gives a brief 
but clear explanation of how the 
defence of contributory negligence 
operates.

       The candidate explains and 
analyses the operation of the 
defence of contributory negligence 
in relation to a child claimant, with 
a relevant case used to support the 
analysis.

2

1

2

1
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Example Candidate Response – middle, continued Examiner comments

       The candidate uses another 
relevant case used here to develop 
the analysis.

       The candidate provides some 
brief evaluation of the issues.

4

3

4

3
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Example Candidate Response – middle, continued Examiner comments

       The candidate references  
additional case law, but the 
relevance of these cases to the 
issues related to a child claimant is 
not made explicit.

55
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Example Candidate Response – middle, continued Examiner comments

       The candidate reaches a 
conclusion in relation to the issue 
raised in the question.

       The candidate makes a 
comparison with treatment of 
children in other areas of tort here, 
but this point is not fully developed.

Mark for AO1 = 7 out of 12
Mark for AO2 = 3 out of 5
Mark for AO3 = 4 out of 8

Total mark awarded =
14 out of 25

6

7

6

7

How the candidate could improve their answer
•	 To improve the response, the candidate could have provided further development of the analysis of how treatment 

of children in other areas of tort is relevant to the operation of the defence of contributory negligence when the 
claimant is a child.

•	 Analysis and evaluation of the influence of policy in balancing the interests of the child claimant and the defendant 
would have been beneficial for the candidate.
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Example Candidate Response – low Examiner comments

       The candidate introduces 
the topic of Occupier’s liability, 
but relevance to the issue of 
contributory negligence is not 
explained.

       The candidate gives an 
explanation of elements of 
Occupier’s liability, but there 
is no reference to contributory 
negligence.

1 1

22
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Example Candidate Response – low, continued Examiner comments

       Some analysis of the treatment 
of the extent of the duty owed by an 
occupier to a child visitor is made, 
but the relevance to the question 
is not explicit and, therefore, the 
analysis is limited.

33
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Example Candidate Response – low, continued Examiner comments

       The candidate further analyses 
the treatment of the child claimant 
in cases of Occupier’s liability, 
but connection to the issue of 
contributory negligence is only 
inferred rather than made explicit.

44
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Example Candidate Response – low, continued Examiner comments

       We can see that the candidate 
attempts to reach a conclusion, but 
it is not supported by the material 
presented here. 

Mark for AO1 = 4 out 12
Mark for AO2 = 2 out of 5
Mark for AO3 = 1 out of 8

Total mark awarded =
7 out of 25

55

How the candidate could improve their answer
•	 The candidate could have explained the elements of the defence of contributory negligence and the special rules 

which have developed in relation to the use of the defence where the claimant is a child.
•	 The answer would have benefited from further development of the analysis in order to make explicit the 

comparison between the treatment of a child visitor in Occupier's liability cases and the treatment of a child 
claimant in cases involving contributory negligence.

Common mistakes and guidance
•	 Emphasis on explanation of the elements of contributory negligence and insufficient analysis of how the rules have 

developed and the underlying policy issues which have influenced the development of the rules.
•	 Inclusion of irrelevant material and/or the relevance of material such as Occupier’s liability not made explicit.
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Question 4

Example Candidate Response – high Examiner comments

       The candidate introduces 
the elements of the tort of private 
nuisance.

       Here, there is development in 
the explanation of unreasonable 
interference.

       The candidate explains 
the meaning of unreasonable 
interference with reference to 
relevant case law.

1
1

2

3

2

3
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Example Candidate Response – high, continued Examiner comments

       The candidate explains 
the meaning of unreasonable 
interference with reference to 
relevant case law.

44
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Example Candidate Response – high, continued Examiner comments

       The candidate explains the rule 
governing who can sue for private 
nuisance and refers to a relevant 
case to develop their point.

       The candidate gives a 
detailed explanation of who can 
be sued for private nuisance and 
the explanation is supported with 
relevant case law.

55

66
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Example Candidate Response – high, continued Examiner comments

       The candidate evaluates the 
rules governing who can sue for 
private nuisance.

       The candidate gives justification 
for the rules here and then reaches 
a conclusion.

Mark for AO1 = 10 out of 12
Mark for AO2 = 4 out of 5
Mark for AO3 = 6 out of 8

Total mark awarded =
20 out of 25

77

88

How the candidate could improve their answer
•	 The candidate could have provided more evaluation of case law related to who can sue for private nuisance with 

particular focus on conflicting judicial opinions – for example Hunter v Canary Wharf (1997) – and the requirement 
of proprietary interest,

•	 More evaluation of the rules governing who can be sued for private nuisance was needed. The candidate should 
have discussed the extent to which some parties impacted by private nuisance cannot sue and the balancing of 
competing interests between two different individuals. There should be more evaluation on how these competing 
interests give rise to complex issues. There could be discussion surrounding the policy reasons underlying the 
current approach of narrowing the pool of potential claimants– trying to stop the floodgates being opened. This can 
be contrasted against the three potential categories of defendant – giving a claimant a broader range to receive 
compensation. The candidate could have discussed whether this approach is satisfactory.
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Example Candidate Response – middle Examiner comments

       The introduction begins with 
the purpose of the tort of private 
nuisance.

       The candidate outlines some 
examples of private nuisance to 
develop this point.

       The candidates explains the 
element of the tort.

2

1

2

1

3
3
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Example Candidate Response – middle, continued Examiner comments

       The candidate outlines the rule 
governing who can sue for private 
nuisance.

       The candidate outlines the 
rules governing who can be sued 
for private nuisance.

44

55
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Example Candidate Response – middle, continued Examiner comments

       Here, the candidate evaluates 
the strictness of the rules governing 
who can sue for private nuisance.

       This is then followed by an 
evaluation of the rules governing 
who can be sued for private 
nuisance.

66

77
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Example Candidate Response – middle, continued Examiner comments

       The candidate reaches a 
broad conclusion at the end of the 
response. 

Mark for AO1 = 8 out of 12
Mark for AO2 = 3 out of 5
Mark for AO3 = 4 out of 8

Total mark awarded =
15 out of 25

88

How the candidate could improve their answer
•	 To improve, the candidate could have identified and evaluated the reasons why the rules governing who can sue 

and be sued for private nuisance can be said to be unnecessarily strict.
•	 To be awarded higher marks, there should be a coherent and reasoned conclusion which is justified by the 

explanation and evaluation of the legal rules.
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Example Candidate Response – low Examiner comments

       The candidate identifies some 
of the essential elements of private 
nuisance.

       The candidate identifies 
some of the relevant factors which 
determine who can sue and be 
sued in private.

1 1

22
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Example Candidate Response – low, continued Examiner comments

       Some of the essential elements 
which must be established for 
liability in private nuisance are 
discussed here.

33
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Example Candidate Response – low, continued Examiner comments

Mark for AO1 = 4 out of 12
Mark for AO2 = 1 out of 5
Mark for AO3 = 1 out of 8

Total mark awarded =
6 out of 25

How the candidate could improve their answer
•	 The candidate should have omitted any irrelevant material related to Rylands v Fletcher, as this did not add to the 

answer.
•	 An explanation could have been included about the rules governing who can sue and be sued for private nuisance 

with more detail and with reference to relevant case law.
•	 It would have been beneficial for the candidate to evaluate the reasons why the rules might be regarded as 

unnecessarily strict.

Common mistakes and guidance
•	 Too much focus on the general rules governing liability in private nuisance and insufficient explanation and analysis 

of the rules governing who can sue and be sued.
•	 It is important to examine the underlying policy reasons for the rules and try to reach a clear and coherent 

conclusion in relation to the question. The conclusion should be reasoned and supported by the explanation and 
evaluation in the essay.
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Question 5

Example Candidate Response – high Examiner comments

       The candidate introduces the 
elements of the tort of negligence.

11
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Example Candidate Response – high, continued Examiner comments

       The candidate explains the 
concept of the reasonable man 
as the test for breach of duty and 
supports the explanation with a 
reference to a relevant case.

       An explanation about how the 
reasonable man test was developed 
through further judicial decisions is 
given here.

2

3

2

3
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Example Candidate Response – high, continued Examiner comments

       The candidate gives an 
explanation and evaluation about 
the application of the reasonable 
man test in relation to a learner 
driver, with reference to a relevant 
case.

44
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Example Candidate Response – high, continued Examiner comments

       The candidate explains and 
analyses a range of factors which 
are relevant to the decision as to 
whether a duty of care has been 
breached.

55



Example Candidate Responses – Paper 4

51

Example Candidate Response – high, continued Examiner comments



Example Candidate Responses – Paper 4

52

Example Candidate Response – high, continued Examiner comments

       The candidate explains and 
evaluates the application of the 
reasonable man test in relation to a 
child.

66
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Example Candidate Response – high, continued Examiner comments

       The candidate follows by 
explaining and evaluating the 
application of the reasonable man 
test to medical professionals.

7
7
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Example Candidate Response – high, continued Examiner comments

       The candidate reaches some 
conclusions about the use of the 
reasonable man test.

Mark for AO1 = 10 out of 12
Mark for AO2 = 4 out of 5
Mark for AO3 = 6 out of 8

Total mark awarded =
20 out of 25

8

8

How the candidate could improve their answer
•	 The candidate could have used the explanation as a basis for an analysis of whether the reasonable man test 

ensures a consistent approach to the issue of breach of duty.
•	 They could have used the material presented to reach a clear and coherent conclusion in which the reasoning is 

based on the explanation and evaluation presented in the essay.
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Example Candidate Response – middle Examiner comments

       The candidate introduces the 
essential elements of the tort of 
negligence.

       The candidate continues by 
introducing the concept of the 
reasonable person.

       The candidate outlines a range 
of factors which are considered 
when determining whether the duty 
of care has been breached.

2

1

2

1

33



Example Candidate Responses – Paper 4

56

Example Candidate Response – middle, continued Examiner comments

       There is an evaluation about 
the application of the reasonable 
man test in relation to medical 
professionals.

44
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Example Candidate Response – middle, continued Examiner comments

       The candidate examines the 
benefits of using the reasonable 
man test to determine whether the 
duty of care has been breached.

       Some of the negative aspects 
of the use of the reasonable man 
test are identified.

       The candidate reaches a broad 
conclusion now in relation to the 
reasonable man test. 

Mark for AO1 = 7 out of 12
Mark for AO2 = 3 out of 5
Mark for AO3 = 2 out of 8

Total mark awarded =
12 out of 25

6

5

7

6

5

7
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How the candidate could improve their answer
•	 The candidate could have used the explanation as a basis for an analysis of whether the reasonable man test 

ensures a consistent approach to the issue of breach of duty.
•	 They could have used the material presented to reach a clear and coherent conclusion in which the reasoning is 

based on the explanation and evaluation presented in the essay.
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Example Candidate Response – low Examiner comments

       The candidate identifies 
elements of the tort of negligence.

       The candidate references some 
relevant case law.

1
1

22
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Example Candidate Response – low, continued Examiner comments

       The candidate explains the 
standard of care applicable to a 
learner driver.

       The candidate refers to the 
reasonable man test.

3

3

4
4
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Example Candidate Response – low, continued Examiner comments

       The candidate gives a brief 
analysis and evaluation of the 
reasonable man test.

       The candidate reaches a 
conclusion, however this is not 
fully supported by the analysis and 
evaluation.

Mark for AO1 = 4 out of 12
Mark for AO2 = 2 out of 5
Mark for AO3 = 2 out of 8

Total mark awarded =
8 out of 25

5 5
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How the candidate could improve their answer
•	 There was a significant amount of material relating to duty of care. The candidate did not demonstrate how this 

was relevant to the question and it was therefore not creditworthy. This should have been omitted and there should 
have been a greater focus on relevant material relating to the standard of care and the reasonable man test.

•	 The candidate should have explained the meaning of breach of duty in the context of the law of tort, using material 
related to the reasonable man test. They should have explained the elements required to establish the tort – 
reasonable man, objective nature. The candidate should have examined how the test is applied in a variety of 
settings (children, professionals, and learners with reference to case law). They could have explained the factors 
considered by the courts when determining whether there has been a breach of duty – magnitude of risk, potential 
harm, precautions and social value. The candidate needed to evaluate whether it ensured a consistent approach to 
the issue of breach of duty.

Common mistakes and guidance
•	 It is important to provide a sound explanation of the reasonable man test and then evaluate how it is applied in 

specific circumstances. A focus on an explanation of the legal rules without an evaluation of the issue raised in the 
question will not achieve the highest marks.

•	 It is vital to use the explanation of the law and the evaluation of the issues to reach a clear and coherent conclusion 
which is justified by reference to the material presented in the essay.
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